By = VI + 1429 IHEZS FBFOIEf: (x, y) - (x +
a, y+b) °f 18] §70 TR Mol y = Var b+ e U W, 45
a. b, ¢ 9 Fatbte FgE P

@D =2 ® -1 3 0 @ 1 @ 2



2.

-1<a<39 ), 5 A2 7] shi?

Va? +2a+1+ (Va-2)2+ Va? = 6a+ 9

D a @ a-2

@ 3aq+2 ® qg+9







i

© ® © © 6

Aol (x| x> 2)olth

A9 yly = 1ol

DRHTE A (-2, -1) 2 AdH
O ZEy=-vx o 2HZE 3
Jdefz A 1, 2, 3AHEAS Ayt



X
e Sy ey B

2- 3

%}]\—O

Foh?

2

® V543



6. x=2+ V3L, x® 222+ 3x+49] 2?7

D 11+5V3 @ 114+10V3 ® 22+5V3
@ 22 +10V3 ® 22+ 153



7.

® -1

@ -

3
1




8. O<a<1°]_1_x—a—a , V2 14— V2 E o 2 VERE?

® 2 @ 2

a

@—% @ 21 0






10.

=

Ty = Va—1 Ty =mx 9 2zt wid o, A5 m
He=?
1 1 1
D o<m< = @ 0<m< = @ 0<m< =
2 ) 2 2
@—§§m<0 @—§SmS0



